C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 96,118 - 88,484 =

« e ° ° ° ° o » »

2) 76,028 - 22,264 =

< ® @ L ® L *—>

3 92917-44,923 =

< ® ® ® ® ® *—>

4) 32074-16,371=

< ® @ L ® L *—>»

5 72.745- 15292 =

< ® @ L ® L *—)>

6) 88.029-23,714 =

< ® @ L ® L *—>»

7) 51,820- 20,720 =

< ® @ ® L >
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) - =
96,118 - 88,484 . 7634
7634 7638 7,718 8118 16,118 96,118
< > , 53764
-4 -80 -400  -8,000 -80,000
3 47,994
2) 76,028 - 22,264 =
4 15,703
53,764 53,768 53,828 54,028 56,028 76,028
< > s 57,453
-4 -60 200  -2,000 -20,000
6. 64,315
3 92,917 - 44,923 =
47,994 47,997 48,017 48917 52,917 92,917 »_ 81,100
< >
-3 -20 900  -4,000 -40,000
4 32,074- 16,371 =
15,703 15,704 15774 16,074 22,074 32,074
< >
-1 -70 -300 -6,000 -10,000
5 72,745 - 15,292 =
57,453 57455 57,545 57,745 62,745 72,745
< >
-2 -90 200  -5,000 -10,000
6) 88,029 - 23,714 =
64,315 64,319 64,329 65029 68,029 88,029
< >
-4 -10 700  -3,000 -20,000
7) 51,820- 20,720 =
31,100 31,120 31,820 51,820
< S —— >
-20 -700 -20,000
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C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
31,100 7,634 53,764 57,453
64,315 47,994 15,703 1.
1) 96,118 - 88,484 = »
< ® ® ® ® ® *—>» 3.

2) 76,028 - 22,264 =

<4 @ @ @ @ @ @ > 6
3) 92.917- 44,923 = &
< @ @ @ @ @ @ | g

4) 32074-16,371 =

< ® @ L ® L *—>

) 72745 -15292 =

< ® @ L ® L *—>»

6) 88,029-23714 =

< ® @ L ® L *—>

7) 51,820- 20,720 =

< ® @ ® L >
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